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Question Number : 1 Question Id : 25498943590 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What kind of software would you use to open the web pages on the internet?
Options :

1. ¥ Web browser

2. % Excel

3. ¥ Presentation

4, % Anti-virus

Question Number : 1 Question Id : 25498943590 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

geC W I 99 Ul TieH & folT 3117 f5Y UHR & JIoeddqR HT IUANT Bl
Options :

1. ¢ 99 ST3SR

2. ® Excel

3. % UoicRH

4. % U9y

Question Number : 2 Question Id : 25498943591 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What is the full form of CD-R?
Options :

1. % Collect Data-Readable

2. % Compact Disc-Recordable

3. % Cover Drink Recordable

4. % Carbon Data Recordable

Question Number : 2 Question Id : 25498943591 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

CD-R &1 QUiET &1 82

Options :

1. % Polac Sl ead (Collect data-Readable)

2. ¢ Hidae S Idload (Compact Disc-Recordable)
3. ¥ PR %$\Q¢T§®Ic1 (Cover Drink Recordable)

4. % HIg Sl Yblodd (Carbon Data Recordable)

Question Number : 3 Question Id : 25498943592 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

On a computer keyboard, the arrow keys, Home, End, Page Up, Page Down, Delete and Insert that are used for moving around in documents or
webpages and editing text are called

Options :

1. # control keys

2. % navigation keys
3. #* function keys

4. ® numeric keys

Question Number : 3 Question Id : 25498943592 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

FHugex H ol STagae 37yaT daUel IR 3ER-SR I 3IR CRE DI UST PR & T R & $1-318 W HINE W, W, TS, US-3(0, U91-
313, f$efie 3R 30 Bl HEa gl

Options :

1. % eld Do

2. ¢ AfRA B

3. # ThaRM Bl

4. % JORD DI

Question Number : 4 Question Id : 25498943593 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Which of the following is used as a directory separator in the Linux operating system?
Options :

1. ¥ / (forward slash)

2. % \ (backward slash)

3. # ,(comma)

4. % SPACE

Question Number : 4 Question Id : 25498943593 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

9 o 9 fordent ST forad iTuRfeT Rived & SRREe:! YuRex & =0 H o1 STl 52
Options :

1. /(BRI T

2. %\ (dHds W)

3. % (BIHN

4. % WY

Question Number : 5 Question Id : 25498943594 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a digital personal assistant also known as personal productivity assistant developed by Microsoft?
Options :

1. ¥ Cortana

2. % Siri

3. % Alexa

4. % Jarvis

Question Number : 5 Question Id : 25498943594 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



fafoiad 7 ¥ o191, T fsfoied safadia 98 § fSR Microsoft §RT faeRid fh T 7T safadiTd SdTedhdl Y8 (personal
productivity assistant) & =g H ff S ST %?

Options :

1. ¥ EIOLRE'I:lT(Cor‘[ana)

2. % 1 (Siri)

3. % TART (Alexa)

4, ® Wﬁ;ﬂ(]arvis)

Question Number : 6 Question Id : 25498943595 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

By using which tab can you use Spelling and Grammar check in an MS Word 2016 document?
Options :

1. ¥ Review

2. % Home

3. % Edit

4. ® View

Question Number : 6 Question Id : 25498943595 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word 2016 Eﬁaﬂﬂ? H 319 {5 9 H1 ST R Il 3R BRI g (Spelling and Grammar check) T JURT &R Fhd 52

Options :

1. ¢ G (Review)
2. % g (Home)
3. % TfST (Edit)

4. % Y (View)

Question Number : 7 Question Id : 25498943596 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Which of the following tabs are not available in MS-Word 2019?
Options :

1. # File

2. % Home

3. ¥ Edit

4. % References

Question Number : 7 Question Id : 25498943596 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word 2019 H 5 # § 1 91 ¢ Juaisd Tg] 57
Options :

1. * lgd

2. % gW

3. ¥ UfSe

4. % IHIGY

Question Number : 8 Question Id : 25498943597 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

By using which tab can you convert your text into upper case in MS Word 2016?
Options :

1. #* Format

2. ¥ Home

3. * Insert

4. # Tools

Question Number : 8 Question Id : 25498943597 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word 2016 H {5 28 &1 IUGITT $5Rd U TRE B AR &Y H 95 Thd &7




Options :
1. % Hc
2.v 8
3. % 3¢

4. % T

Question Number : 9 Question Id : 25498943598 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of following operating systems supports GUI (Graphical User Interface)?

(1) MS-DOS (ii) Windows 10 (iii) Ubuntu
Options :

1. % Both (i) and (ii)

2. % Both (i) and (iii)

3. % Only (i)

4. ¥ Both (ii) and (iii)

Question Number : 9 Question Id : 25498943598 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

frafafad # 9 SH-3 siTaRfET Red Gul (nftherd oR 3etha) &I JUIE ol 82

(i) MS-DOS (ii) [dSIeT 10 (iii) 3¢
Options :

1. % (i) 3R (i) T

2. % (i) 3R (iii) G

3. % %ad (i)

4. ¢ (i) 3fR (iii) I

Question Number : 10 Question Id : 25498943599 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Ethernet is the most widely used * ” technology.
Options :

1. ¥ LAN

2. % WAN

3. % MAN

4. % PAN

Question Number : 10 Question Id : 25498943599 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SUAC T ATIH FU I IGINT &1 oI arait " " Jhib ¢ |
Options :

1. ¥ LAN

2. % WAN

3. ¥ MAN

4. ¥ PAN

Question Number : 11 Question Id : 25498943600 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

With respect to web development, PHP stands for
Options :

1. % Packed Hypertext Page

2. % Hyper Post Page

3. ¥ Hypertext Preprocessor

4. % Plain HTML Page

Question Number : 11 Question Id : 25498943600 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

d9 STAuHe & Y&y H, PHP &1 JUf & &1 §2



Options :

. 2N Y
1. % Packed Hypertext Page (UGS BIRURCRE Uw)
2. # Hyper Post Page (8IUX e aTT[)

3. ¥ Hypertext Preprocessor (_EHE'CR%W m)
4. % Plain HTML Page (®- HTML Udl)

Question Number : 12 Question Id : 25498943601 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
combine the data from disparate sources so that they can be viewed or analysed in a single application.
Options :
1. ¥ Data integration tools
2. % Search tools
3. # Index tools

4. ¥ Networking tools

Question Number : 12 Question Id : 25498943601 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
T3 Tl F U ST I gl g dli 30 U ol URIBRH H <3aT a1 3-7ehT faavur fovar o 9o |
Options :
1. ¥ ST SR ¢
2. % Fd ¢d
3. % ST
4. % SeafoT ¢d

Question Number : 13 Question Id : 25498943602 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Currently, what is the limit of fund transfer per one transaction using UPI?
Options :



1. # %50,000
2. ¥ %1 lakh
3. # 210,000
4. % 330,000

Question Number : 13 Question Id : 25498943602 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A B UPL T SUANT R BU Ufd TolaR ths < o1 AT &1 82
Options :

1. * %50,000

2.% %1 Al

3. # 110,000

4. % %30,000

Question Number : 14 Question Id : 25498943603 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which chart in MS Excel 2013 can show continuous data over time on an evenly scaled axis which makes them ideal for showing trends in data
at equal intervals, like months, quarters or fiscal years?

Options :

1. ¥ Line

2. # Surface
3. # Radar
4. % Area

Question Number : 14 Question Id : 25498943603 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Excel 2013 H 7 # ¥ &9 I1 1€ UM TU T W5 d [T T 31&f TR 9T & 1Y FRAR 3iips! oI g2 FobdT & O 38 A 3R,
o AT, fomfeal an fa<ha auf & siiws! & T fawm & faw el sAmar g

Options :




1. ¥ 8
2. % A (TRBY)
3. % ISR

4. % TR

Question Number : 15 Question Id : 25498943604 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Access control mechanism in any system is designed to and restrict access to unauthorized users.
Options :

1. ¥ prevent

2. % use

3. % guide

4. % free

Question Number : 15 Question Id : 25498943604 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

forft ot Reew o uga Fd=0r o (T dhcid AobfoH) B A% SUIRTEHT Bi 3R P! ugd ufaefia w3 & for fEamga
fpaT ST 81

Options :

1. ¢ A

2. % JUINT

3. % AR (TTES)

4. % Had

Question Number : 16 Question Id : 25498943605 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
To achieve computer security, the of a website must be obtained from the proper organizations and registered with them.
Options :



1. # program

2. # protocol

3. % digital certificate
4. % code

Question Number : 16 Question Id : 25498943605 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

HC YRET U I & AL, Je418e & Ifd WS I U o ST Afe T 3R S 1Y Usiided off 1 amfeu|
Options :

1. % YU

2. % ICibid

3. ¢ f$fored yaTUTA

4. % DIg

Question Number : 17 Question Id : 25498943606 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In an operating system, PCB stands for
Options :

1. ¥ Process Control Block

2. # Procedure Control Board

3. ® Process Common Board

4. % Procedure Common Board

Question Number : 17 Question Id : 25498943606 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fqRfeET Rew o, dRfelt (peB) &1 uiea s 82
Options :

1. ¥ Process Control Block @@H 3’7@?‘[ OTQ'I\T’a?)



2. % Procedure Control Board (m ﬁ,\a En@c)
3. % Process Common Board (U1 1A Eﬁé)
4. % Procedure Common Board (ISR H1AA dlS)

Question Number : 18 Question Id : 25498943607 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which file format is used to save OpenDocument spreadsheet?
Options :

1. # .odsss

2. % .ods

3. % .odp

4. % odcs

Question Number : 18 Question Id : 25498943607 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
uTeiagic Wesiic &l YgoH & il &1 T BI3d WiHe B IUANT fara SiTdT 82
Options :

1. # .odsss

2. % .ods
3. % .odp
4

. # odcs

Question Number : 19 Question Id : 25498943608 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A diskette is a type of a storage
Options :

1. # mediator

2. # data

3. ¥ medium



4. % format

Question Number : 19 Question Id : 25498943608 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fSXPbe (diskette) RS B TP SR g
Options :

1. ® fAfgTer

2. % ga

3. ¢ Hifggw

4. % A

Question Number : 20 Question Id : 25498943609 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Device driver is a group of files which will help the hardware device to communicate with computer’s
Options :

1. ¥ operating system

2. % motherboard

3. % peripherals

4. ¥ memory

Question Number : 20 Question Id : 25498943609 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fEaTsy TR WISl &1 Uh T THE & Sl STSamR SaRu B YRS & 1Y Jalg H4 J Aeg ST |

Options :

1. ¢ TRET Ried

2. % AexEls

3. % QB SUHIN (URNHIRT)
4. % TARY



Question Number : 21 Question Id : 25498943613 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Study the below dialogue box of MS-Word 2016. After clicking on the OK option, which of the following options will happen?

Page Setup f b

Margins  Faper Lagpoul
ﬂ.m.*; iz
Custom size

W

Wp Ak L4

Hepht |7
Papér source

Eirsk page: Other pages:
Setault tray LAutomatically a¢
Autamatically Seleat

| etault tray 1-\_,:'“..-_,...
Eutpmaticully Select

Prirdter suto telect Prrter aute select
Marwual Fesd Tray Manus! Fesd Tray
Tray 1 Trag 1
Tray |Tray 2
Tray 3 Traey 3
Tray 4 Tray 4
Préwidw
Apply to: | 'Whole decument o Pring Ophians...

et A Drfault QK i'\ Cancel
-

Options :

1. ¥ The page size of the document will change.
2. # The font style will change.

3. % The font size will change.

4. % The page colour will change.

Question Number : 21 Question Id : 25498943613 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

e f3U T MS-Word 2016 & STIANT §1d9 Bl 36 | ITH 'OK' [dded TR faadd B & d1¢ T gRTI?

Mage Setup 7 x

Margins Faper Lsypoul
l-"'.mr; sizee
Custam size

YTt

Wp Ak Q

Hesght |71

Paper source

Eirsk page: Cther pages:
Default tray (Automatically 5¢ | Dt pulk tray Lutomatically Seleck
Automatically Seleq Atomaticaly Seled
Prirser sute teleet Prirtier aute celert
Marwal Feed Tiay Manwsl Feed Tray
Tray 1 Trag 1
Tray & Tray &
Tray 3 Traey 3
Tray 4 Tidy 4
Prewiaw
Apply lo: | 'Whole dotument | Frinz Ophions...

07 A Drfault QK I Cancel
-

Options :

1. ¢ SlagHc & US &1 THR FGal S|
2. % Bl B WIS dGd SITE|

3. % i< &I PR T STE|

4. % UG DI T gad S|

Question Number : 22 Question Id : 25498943614 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
There is/are number of option(s) for gutter positions in MS Word 2019.



Options :
1. * one
2. ¥ two
3. % three

4. * four

Question Number : 22 Question Id : 25498943614 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word 2019 H TR (gutter) TN & fApedi H1 @ Bt gl
Options :

1. # Uh

2.3

3. % dH

4. % R

Question Number : 23 Question Id : 25498943615 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which indent marker controls all the lines EXCEPT the first line in MS-Word 2019?
Options :

1. * First line indent markers

2. # Left indent markers

3. * Right indent markers

4. ¥ Hanging indent markers

Question Number : 23 Question Id : 25498943615 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
BT T S35 HIHR MS-Word 2019 1 UgEH Ul BT Bred Tt g+l & HafAd sar g2

Options :




1. % S TS Sac HIhR
2. ® AUC T3¢ AT
3. % YT SoC AR
4. « BT ST ATHR

Question Number : 24 Question Id : 25498943616 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the pagination control in the Line and Page Breaks tab to fill the given blank with reference to MS-Word 2019.

adds a page break before a specific paragraph.
Options :
1. # Widow/Orphan control
2. ¥ Page break before
3. % Keep with next
4. # Keep lines together

Question Number : 24 Question Id : 25498943616 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word 2019$§3ﬁﬁﬁ3ﬂ@mﬁgﬁfa§mw@Tﬂﬁ%%ﬁﬁaﬁﬂﬁm(pagination) Obc;\\l(d CAREEIRT
et forQy BRI @ Ug e Ul sicb b1 U8 T & |

Options :

1. % fa8y/3{th= deld
2. ¥ U9 5o fahR

3. % DY fdg Aqe

4, % HIY A TIa

Question Number : 25 Question Id : 25498943617 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Tiny droplets of colored ink and nozzle are associated with:
Options :

1. % laser printer

2. % dot-matrix printer

3. ¥ inkjet printer

4. % daisy wheel printer

Question Number : 25 Question Id : 25498943617 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i Qe 1 9gd BIeT g8 SR Aieb (Arera) Fafeiad 7 9 foad awifid g2
Options :

1. % ooR flic}

2. % gl Ofeay fifex

3. ¥ §huic R

4. % Sl gl fUieY

Question Number : 26 Question Id : 25498943618 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

We use algorithms to reduce the amount of space needed to represent a file.
Options :

1. % extension

2. ¥ compression

3. % encryption

4. # decryption

Question Number : 26 Question Id : 25498943618 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1 WIS &I <R & foIU IS WY Pt AT D HH B P U TENRGH BT YT HId |

Options :



1. % THICTH
2. ¢ HHE
3. % UfhwH
4. % fefpmm

Question Number : 27 Question Id : 25498943619 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Imagine you are working on an MS Word 2003 document. The steps to add Autocorrect are given below in a jumbled order. Select the option that
arranges them in the correct order.

a) Click OK.

b) Click Tools.

¢) Then click AutoCorrect.

d) Type the word in the place provided for Replace and With Options then click Add.

Options :

1.¥b,c,d, a
2. % b,d,c,a
3. % b,c,a,d
4. % b,a,d, c

Question Number : 27 Question Id : 25498943619 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ b,c,d,a

2. % b.d,c,a




3. ® b,c,a,d
4. ® b,a,d,c

Question Number : 28 Question Id : 25498943620 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following languages has been developed for scientific purposes?
Options :

1. # COBOL

2. ¥ FORTRAN

3. ¥ PASCAL

4. % BASIC

Question Number : 28 Question Id : 25498943620 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. * COBOL

2. ¥ FORTRAN

3. ¥ PASCAL

4. % BASIC

Question Number : 29 Question Id : 25498943621 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

By default, Microsoft Office Word 2007 uses to display deletions, comments, formatting changes, and content that has moved.
Options :

1. % display for review

2. % balloons

3. # show markup

4. ¥ reviewing pane



Question Number : 29 Question Id : 25498943621 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. * fe R RY

2. S

3. % X ATHSY

4. % RPfdn o=

Question Number : 30 Question Id : 25498943622 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In a newsletter style column, to align the text across the page from column to column (in parallel format) use of the Page Layout tab in MS
Word 2007?

Options :

1. ¥ Columns
2. % Margins

3. % Orientation

4. % Hyphenation

Question Number : 30 Question Id : 25498943622 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ BiaH

2. % 7IfSH

3. ® 3IRTRA




4. % GISHATH

Question Number : 31 Question Id : 25498943624 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following storage device requires periodic refreshing to retain its contents?

(i) DRAM, (ii) SRAM, (iii) ROM
Options :

1. % Only (i)

2. % Both (i) and (ii)

3. % Only (i1)

4. % Only (ii1)

Question Number : 31 Question Id : 25498943624 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fafeiad 7 9 fog @R feagy &1 3ot Il (@ee) &) ST 15 & ol I9u-aqg IR RI6RIA 3t rawaswmdr gidl 82

(i) DRAM, (ii) SRAM, (iii) ROM
Options :

1. ¢ &Had (i)

2. % (i) 3R (ii) G

3. % 6Hdd (ii)

4. % &Had (iii)

Question Number : 32 Question Id : 25498943628 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Before the wide use of USB ports, which of the following ports was used to connect a printer to your computer?
Options :

1. ¥ Parallel



2. % DVI Port
3. % VGA
4. % RJ 45

Question Number : 32 Question Id : 25498943628 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ AR (R

2. % DVI Port (UI0)

3. % VGA

4. % RJ 45

Question Number : 33 Question Id : 25498943629 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

rate is the rate at which the number of signal elements or changes to the signal occurs per second when it passes through a transmission
medium. The higher it is the faster the data is sent/received.

Options :
1. * Bit
2. % Strike
3. ® Audio
4. ¥ Baud

Question Number : 33 Question Id : 25498943629 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % fgc




2. % XIgD
3. % 3ffear
4. ¢ 9iS

Question Number : 34 Question Id : 25498943630 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Using which keyboard shortcut can you switch to Print Preview in MS Word 2019?
Options :

1. ® Alt+ Ctrl + P

2.9 Ctrl + Alt + 1

3. % Ctrl+ Alt + X

4. % Ctrl + Alt+ P

Question Number : 34 Question Id : 25498943630 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % Alt+ Ctrl + P

2.9 Ctrl + Alt +1

3.% Ctrl + Alt + X

4, % Ctrl+ Alt+P

Question Number : 35 Question Id : 25498943631 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The below icon is present in group in mailing tab of MS-Word 2016.

Envelopes

Options :

1. ¥ Create

2. % Start Mail Merge
3. # Preview Results
4. * Finish

Question Number : 35 Question Id : 25498943631 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
- feam T SSH MS-Word 2016 9 AT ¢d & fard JU & HIN[G X8l 62

Envelopes

Options :

1. ¢ fobue

2. % TE U Aol
3. % Ty Relee
4. % fopf=r

Question Number : 36 Question Id : 25498943632 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
is the type of document that creates a single document containing a catalogue or printed list of addresses in Mail Merge.



Options :

1. #* Letters
2. % Labels

3. % Directory

4. * Envelopes

Question Number : 36 Question Id : 25498943632 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % AR

2. % A9

3. ¥ SRECH]

4. % Udcdy

Question Number : 37 Question Id : 25498943633 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The group of features are used in the fifth step of Mail Merge process in MS-Word 2016.
Options :
1. # Create

2. # Start Mail Merge
3. ¥ Preview Results
4. % Finish

Question Number : 37 Question Id : 25498943633 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :



1. % fpue
2. % W AA A
3. ¢ Tieg Rolecd
4. % ffAgr

Question Number : 38 Question Id : 25498943634 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Where is the Modem used?

Options :

1. # File System settings

2. % Memory Management

3. # Graphics

4. ¥ Connecting to Internet

Question Number : 38 Question Id : 25498943634 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
OTSH gl SXHTd 3T STl 87
Options :

1. % Bred Ren Ife™
2. % Wi gde

3. % Yifthag

4. ¥ 3T Y Hae B

Question Number : 39 Question Id : 25498943635 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A CPU with a clock speed of 10.0 MHz means it can process cycles in a second.
Options :

1. # 10 billion



2. * | million
3. # 1 billion
4. % 10 million

Question Number : 39 Question Id : 25498943635 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % 10 fafera

2. % | farferos

3. % 1 faferm

4. ¢ 10 faferg

Question Number : 40 Question Id : 25498943646 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If everything tests out correctly, the computer will typically emit ~ and continue the starting-up process.
Options :

1. # two beeps

2. ¥ asingle beep

3. * no beep

4. ¥ multiple beeps

Question Number : 40 Question Id : 25498943646 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I 99 & ol dild I TRIEUT 6l § dl PR S dR TR Jfotd B SR RS Ufehar STRY I@ |
Options :

1. % Qe

2. ¥ UH gl EU




3. % Pls &g gl
4. % UHIYUP &Y

Question Number : 41 Question Id : 25498943647 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who is known as the architect of India's first Supercomputer PARAM 80007?
Options :

1. # Dr APJ Abdul Kalam

2. # Dr Raghunath Mashelkar

3. % Dr Vikram Sarabhai

4. ¥ Dr Vijay Bhatkar

Question Number : 41 Question Id : 25498943647 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

YRJ &b Ugd YUR HHER TRH 8000 (PARAM 8000) b IRABR & =Y H Y ST STl 82
Options :

1. % . UUI 3fegd Hard

2. % . TG AIRIADH

3. % ST, faohH URTHTS

4. . faorg Yeax

Question Number : 42 Question Id : 25498943648 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a web browser?
Options :

1. # Mozilla Firefox

2. % Apple Siri

3. # Google Chrome



4. ¥ Microsoft Edge

Question Number : 42 Question Id : 25498943648 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
fFrofifad § 9 SI9-91, T 99 SSoR 781 82
Options :

1. % AT BrR b

2.« IO R

3. % A DIH

4. % TSI T

Question Number : 43 Question Id : 25498943649 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What would be the standard subnet mask setting while installing Windows XP?
Options :

1. % 255.255.255.0

2. % 255.0.255.255

3. % 255.255.0.255

4. % 192.168.2.1

Question Number : 43 Question Id : 25498943649 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Windows XP B! SHfUFTUT (SXTALA) & GRM WSS Ja-c Ab IfT o grfle
Options :

1. ¥ 255.255.255.0

2. % 255.0.255.255

3. % 255.255.0.255

4, % 192.168.2.1




Question Number : 44 Question Id : 25498943650 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

layout is useful when you want to show all the field names as heading labels and are not concerned about the width of the pivot table in
MS-Excel 2019.

Options :
1. ¥ QOutline Form

2. % Compact Form

3. #® Design Form

4. % Tabular Form

Question Number : 44 Question Id : 25498943650 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ 3R BrH

2. % BT BIH

3. % f&ogq wid

4. % TYR BIH

Question Number : 45 Question Id : 25498943651 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
While naming a file in Windows, which of the following options is NOT allowed?

Options :

1. ¥ Reserved names
2. % Numbers

3. % Underscore '
4. ¥ Letters

'



Question Number : 45 Question Id : 25498943651 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ fo1e8 9m

2. % IE (Fed)

3. % JSTWHR "

4. % 3feR (CIcH)

Question Number : 46 Question Id : 25498943652 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Accessing the file server over the internet is typically implemented with which of the following protocols?
Options :

1. # ARP (Address Resolution Protocol)

2. % ICMP (Internet Control Message Protocol)

3. % FTP (File Transfer Protocol)

4. ¥ DHCP (Dynamic Host Configuration Protocol)

Question Number : 46 Question Id : 25498943652 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

]. % ARP (TgY JHIRM Uicidld)

2. % [CMP (3T dheld Al Uieldia)

3. ¢ FTP (B13d TR WeIdhId)

4. % DHCP (STIATH® BRE HI-hIRIA Uleidid)




Question Number : 47 Question Id : 25498943658 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which software can be used for immediate, real-time communication with another person over the internet?
Options :

1. #* E-mail

2. % Instant messaging

3. # Usenet

4. # Blog

Question Number : 47 Question Id : 25498943658 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % 3.0

2. ¢ ZxT ARSI

3. % goHc

4. % SN

Question Number : 48 Question Id : 25498943659 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In which of the following generation of computers, transistors were used?
Options :

1. * First

2. % Second

3. # Third

4. # Fourth

Question Number : 48 Question Id : 25498943659 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

g o 9 forg il & dugex H ciforex o1 Ui fear Sirar Ut
Options :

1. % ggail

2. ¢ QI

3. % il

4. % Rt

Question Number : 49 Question Id : 25498943660 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
is a volatile memory, meaning it only stores data when it has power.
Options :
1. * Hard Disk
2. * Floppy Disk
3. ¥ RAM
4. ¥ ROM

Question Number : 49 Question Id : 25498943660 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. * Hard Disk
2. * Floppy Disk
3. ¥ RAM
4. % ROM

Question Number : 50 Question Id : 25498943661 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT a programming language?



Options :

1. ¥ GitHub
2. # Pascal
3. % COBOL

4. % Java

Question Number : 50 Question Id : 25498943661 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ T84 (GitHub)

2. % U d (Pascal)

3. % ®IgId (COBOL)

4. % V[l (Java)

Question Number : 51 Question Id : 25498943662 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following extensions is used to save code written in the Python programming language?
Options :

l. ® r

2.9 py
3.% ¢

4. % php

Question Number : 51 Question Id : 25498943662 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :




el A
#
o

Question Number : 52 Question Id : 25498943663 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
uses a lossy compression algorithm that discards some of the image information in order to reduce the size of the file.

Options :
1. # TIFF
2. % GIF
3. ®* PNG
4. ¥ JPEG

Question Number : 52 Question Id : 25498943663 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. % TIFF
2. % GIF
3. % PNG
4. % JPEG

READING COMPREHENSION
Section Id : 2549895484

Section Number : 2
Section type : Online



Mandatory or Optional : Mandatory

Number of Questions : 1

Number of Questions to be attempted : 1

Section Marks : 5

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549895525
Question Shuffling Allowed : Yes

Question Id : 25498943640 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (53 to 57)
Read the given passage and answer the questions.

The Hermit and the Scorpion

There lived a hermit on the banks of the river Ganga. He was very kind and helpful to others. Every morning, he took bath in the river and
offered his prayers. One day when he was offering his prayers after his bath, he saw a scorpion floating on the water. The current of the river was
strong and the scorpion was tossing midstream. The hermit took pity on the little creature. He went up to the stream and lifted it on his palm. But
the scorpion stung him on his fingers. The hermit felt the pain of the sting. His hand trembled and the scorpion fell into the water. The hermit
picked it up once more but again he was stung. The hermit kept on trying to help the creature. The scorpion was at last saved but the hermit’s
hand was badly stung.

A person passing by was watching all this. He asked the hermit, “Why did you save the scorpion? It was stinging you all the time. It is an evil
creature.” The hermit replied that the scorpion was behaving according to its nature. It is in its nature to sting. It would not have behaved in a
different manner. If the scorpion cannot give up its nature, why should we? Good human beings should help all in distress. The hermit said, “My
duty is to help others and keeping this in view I helped the scorpion in spite of its repeated stings.”

Sub questions

Question Number : 53 Question Id : 25498943641 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What was the hermit doing when he saw the scorpion in the water?
Options :



1. # bathing
2. ¥ offering prayers
3. % swimming

4. # drowning

Question Number : 54 Question Id : 25498943642 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The hermit lifted the scorpion in his hand in order to
Options :

1. ¥ save it

2. # get stung

3. % Kkill it

4. % amuse himself

Question Number : 55 Question Id : 25498943643 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What did the scorpion do when the hermit picked the scorpion in his hand?
Options :

1. # It jumped back into the water.

2. ¥ It stung the hermit.

3. % It thanked the hermit.

4. # It climbed a tree.

Question Number : 56 Question Id : 25498943644 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The hermit’s hand trembled because
Options :

1. # he was feeling cold in the water
2. # he was scared of the scorpion

3. % a stranger was watching



4. ¥ the scorpion's sting was painful

Question Number : 57 Question Id : 25498943645 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The hermit believed that human beings should
Options :

1. # never try to kill a scorpion

2. # bathe in the river everyday

3. % help those who are in trouble

4. % save themselves from dangerous creatures

Question Id : 25498943640 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (53 to 57)
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Sub questions

Question Number : 53 Question Id : 25498943641 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % FH B QT YT

2.« MAAT HIIJT U

3. % QRIGTAT

4. % & e ol

Question Number : 54 Question Id : 25498943642 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
YA g Afag Ioranr |
Options :

1. ¥ IYTIH & forg

2. % qifes fosg 39 S AR

3. % I ARA & forg

4. % ga bl g & fag

Question Number : 55 Question Id : 25498943643 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % 98 999 Ut § §a 7|
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Question Number : 56 Question Id : 25498943644 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 57 Question Id : 25498943645 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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QUANTITATIVE APTITUDE
Section Id : 2549895485
Section Number : 3
Section type : Online
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Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549895526
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 25498943625 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The ratio of the speeds of a car, train and a bus is 5 : 9 : 4. The average speed of the car, the bus and the train is 72 km/hr
together. What is the average speed of the car and the train together?

Options :
1. % 82 km/hr
> % 78 km/hr

3 « 84 km'hr

4 % Cannot be determined

Question Number : 58 Question Id : 25498943625 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

FR, & AR a@ AT FHA 50 9 ¢ 4 1 FR, 99 IR A F oF @y w93 72 kmvhr B
FR HR T T vF Ty itEa afy GFadr e

Options :
1 = 82 km/hr
> % 78 km/hr

3 « 84 km/hr

, w TR FET FT AT TR 7

Question Number : 59 Question Id : 25498943626 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Evaluate the following (You are not expected to calculate the exact value)

4096 ><2><3—?
774

Options :
1. #® 800

> #® 760
3 ® 920

4« 880

Question Number : 59 Question Id : 25498943626 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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4096 x - X -
7 4

Options :

| % 800

5 % 760

;% 920

4 v 880



Question Number : 60 Question Id : 25498943627 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Evaluate the following (You are not expected to calculate the exact value)

9228.789 - 5021.832 + 1496.989 = ?
Options :
1. % 6500

5 % 6000

3 % 6300

Question Number : 60 Question Id : 25498943627 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

frafiRad &1 qetie &3 (3! Tl A P ITUFT ] B g )
9228.789 — 5021.832 + 1496.989 = ?

Options :

| % 6500

, % 6000

, % 6300

4« 5700



Question Number : 61 Question Id : 25498943654 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Evaluate the following (You are not expected to calculate the exact value)
18% of 609 + 27.5% of 450 = ?

Options :

| ® 220

5 & 233

Question Number : 61 Question Id : 25498943654 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

frafeiad &1 geaie &3 (MU Geldh A B 0T T8l A1 g )
609 BT 18% + 450 BT 27.5% = ?

Options :

| % 220

, @ 233

s % 267

4 % 248



Question Number : 62 Question Id : 25498943655 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In how many different ways can the letters of the word *THERAPY " be arranged so that the vowels never come
together?

Options :
1. % 720
> # 1440

3 % 5040

4 & 3600

Question Number : 62 Question Id : 25498943655 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

e ‘THERAPY F aeii l o R alei v e o sr g e F =x s s o 7
HT?

Options :

| % 720
5 % 1440
; % 5040

4« 3600

Question Number : 63 Question Id : 25498943656 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The second largest and the smallest angle of a triangle are in the ratio of 6 : 5. The difference between the second largest
angle and the smallest angle of the triangle is equal to 9°. What is the difference between the smallest and the largest
angles of the triangle?

Options :
1.« 36°

5 % 24°
3 % 12°
4 % 18°

Question Number : 63 Question Id : 25498943656 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
T PR % gy Few 93 3R FEW oI FI0T & 39 6: 5 §1 PR F gEt e a3 3R
T BIC HT H 9° F 3+ g1 e & T oIT 3R Tad 53 FH07 7 farem 3aw 22

Options :
1. v 36°

) % 24°
3 % 12°

4 % 18°



GENERAL MENTAL ABILITY AND REASONING

Section Id : 2549895486
Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6

Number of Questions to be attempted : 6

Section Marks : 6

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
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Sub-Section Id : 2549895527
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 25498943612 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Firm is related to Flabby in the same way as Piquant is related to:
Options :

1. ¥ Bland

2. % Salty

3. #* Pleasant

4. % Small

Question Number : 64 Question Id : 25498943612 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
B &1 Risll 9 g1 Hae g off e a3l

Options :

. ¥ IS



2. ® led!
3. % TWC
4. % WA

Question Number : 65 Question Id : 25498943636 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the alternative with the most appropriate description about these three words.

Rourkela : Bokaro : Durgapur
Options :

1. ¥ They have steel plants.

2. % They have coal mines.

3. # They have atomic power plants.

4. ¥ They have the best technical colleges.

Question Number : 65 Question Id : 25498943636 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 66 Question Id : 25498943637 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Three words are given, which are related in some way. Select the option in which the three words are related in the same way.



Ink : Pen : Paper

Options :

1. # Watch : Dial : Strap

2. # Book : Paper : Words

3. # Farmer : Plough : Field
4. ¥ Colour : Brush : Canvas

Question Number : 66 Question Id : 25498943637 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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QG! : HeH : BHT
Options :
1.*8@:%:%
2. % {hdig : BT : Vs
3. % fhgH ; SliaT : 9d
4. 1§ : HAAN

Question Number : 67 Question Id : 25498943638 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the term that has the same relationship with the third term as the second term has with the first term.

CAT : DDY ::BIG:?
Options :
1. ¥ CLL
2. % CLM
3. % CML
4. % CEP



Question Number : 67 Question Id : 25498943638 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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CAT : DDY ::BIG:?
Options :
1. ¥ CLL
2. % CLM
3. * CML
4. = CEP

Question Number : 68 Question Id : 25498943639 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Secretly is to openly as silently is to:
Options :

1. #* scarcely

2. * impolitely

3. ¥ noisily

4. % quietly

Question Number : 68 Question Id : 25498943639 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

o TE T TR, G R IR Y G B, 38 & gu=m, I TefYa B
Options :

1. % g &l

2. % RIFTYAD

3. ¢ ARYA®H

4. % gMfdgdd



Question Number : 69 Question Id : 25498943653 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
There is a certain relationship between the first two words. Select the correct option which has the same relationship with the third word.

Elephant : Howdah :: Horse : ?
Options :

1. * Lounge

2. % Hoof

3. ¥ Saddle

4. * Hump

Question Number : 69 Question Id : 25498943653 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Ugd G sl & S DIS oY ¥ 1 39 e f[dbed 1 70 3 ForyepT IR Wsg A 941 81 ey 2|

ET?-ﬁ - SR :: ‘Eﬁ@T 1 ?
Options :
1. = w D Y[ (Lounge)
2. % QX (Hoof)
3. ¥ °Ig I ST (Saddle)
4. % Ppdg (Hump)

GENERAL AWARENESS
Section Id : 2549895487
Section Number : 5
Section type : Online
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Number of Questions : 6

Number of Questions to be attempted : 6



Section Marks : 6

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549895528
Question Shuffling Allowed : Yes

Question Number : 70 Question Id : 25498943589 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Industrial licensing was finally abolished (with a few exceptions) in the:
Options :

1. # Industrial Policy, 1970

2. # Industrial Policy, 1980

3. ¢ Industrial Policy, 1991

4. ¥ Industrial Policy, 1995

Question Number : 70 Question Id : 25498943589 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

3N AR &) Sifdd T &9 J a8 § THIW (FS 3UaIe & 1Y) H foar a1 U
Options :

1. % 3= A, 1970

2. % 3NN ifd, 1980

3. ¢ 3N fa, 1991

4. % 3N A, 1995

Question Number : 71 Question Id : 25498943610 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The Global Forests Goals Report 2021 is the first evaluation of where the world stands in implementing the United Nations Strategic Plan for



Forests

Options :
1. #® 2025
2. %2030
3. % 2035
4. % 2040

Question Number : 71 Question Id : 25498943610 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % 2025

2. 2030

3. % 2035

4. % 2040

Question Number : 72 Question Id : 25498943623 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which country stood second in the 1992 Barcelona Olympics medal tally?
Options :

1. % UK

2. % US

3. % South Korea

4. % Hungary

Question Number : 72 Question Id : 25498943623 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :



1. % gob (UK)

2. ¥ JUY (US)
3. % GIa I
4. % gRI

Question Number : 73 Question Id : 25498943657 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Highly toxic gas which causes headache, visual difficulty, paralysis and even death is:
Options :

1. ® CO,

2. % O3

3.¥ CO

4. % CHy

Question Number : 73 Question Id : 25498943657 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T i favelt 19 S RRed, 3w 8 Hi3ATs, vamard 3R a8l a% fob T &1 HRUI &1 8, T8 B A1 82
Options :

1. ® CO,

2. % O3

3.4 CO

4. % CHy

Question Number : 74 Question Id : 25498943664 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT a part of the Polynesia region?
Options :



1. ¥ New Zealand
2. % Timor
3. % Tonga Islands
4. ® Tuvalu

Question Number : 74 Question Id : 25498943664 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fFrafiRad & 9 HIF GefR R & &1 4T T8l 32
Options :

1. % ol

2. ¢ faHR

3. % g

4. % qdiq

Question Number : 75 Question Id : 25498944361 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Match List-1 with List-IT and select the correct answer using the code given below the lists:

List-1 (Publication) List-II (Person)

A Bande Matram 1. Annie Besant
B. The Common Weal |2 Bhupendranath Dutta
C. The Pupil 3 Bipin Chandra Pal

D. Jugantar Patrika 4 Lala Lajpat Ra1

Options :

1. % A-2,B-4,C-1,D-3
2. ¥ A3, B-1,C-4,D-2
3. % A-2,B-1,C-4,D-3
4. % A-3,B-4,C-1,D-2



Question Number : 75 Question Id : 25498944361 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % A-2,B-4,C-1,D-3
2. ¥ A3, B-1,C-4,D-2
3. % A-2,B-1,C-4,D-3
4. % A-3,B-4,C-1,D-2
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English Mock
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Mandatory or Optional : Mandatory
Number of Questions : 1
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Display Number Panel : Yes
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Maximum Instruction Time : 0
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Question Number : 76 Question Id : 25498943666 Question Type : TYPING TEST Display Question Number : Yes Calculator : None

Summer camps are supervised camps conducted to entertain as well as equip students with various life skills such as teamwork,
socializing, decision making, independent and responsible living and more. It aids the overall development of a child and children have
fun during this process as they get to explore new arenas.
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English Typing Test

Section Id : 2549895489

Section Number : 1

Section type : Typing Test

Mandatory or Optional : Mandatory

Number of Questions : 1

Number of Questions to be attempted : 1

Section Marks : 0

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response : Yes

Maximum Instruction Time : 0

Sub-Section Number : 1

Sub-Section Id : 2549895530

Question Shuffling Allowed : No

Question Number : 77 Question Id : 25498943665 Question Type : TYPING TEST Display Question Number : Yes Calculator : None

Sewage treatment is a type of wastewater treatment which aims to remove contaminants from sewage to produce an effluent that is
suitable for discharge to the surrounding environment. It can also be intended for reuse application thereby preventing water pollution
from raw sewage discharges. Sewage contains wastewater from households and businesses and possibly pre treated industrial
wastewater. There are large number of sewage treatment processes to choose from. These can range from decentralized systems to large
centralized systems involving a network of pipes and pump stations which convey the sewage to a treatment plant. The sewers can also
carry urban runoff to the sewage treatment plant in cities that have a combined sewer. A large number of sewage treatment technologies
have been developed. Very broadly they can be grouped into high tech versus low tech options although some technologies might fall into
either category. To decide which sewage treatment process to choose engineers and decision makers need to take into account technical



and economical criteria as well as quantitative and qualitative aspects of each alternative. Often the main criteria for selection are
desired effluent quality or expected construction and operating costs along with availability of land and energy requirements and
sustainability aspects. For example, broadly speaking the activated sludge process achieves a high effluent quality but is relatively
expensive and energy intensive compared to waste stabilization ponds which are a low cost treatment option but require a lot of land. In
developing countries and in rural areas with low population densities sewage is often treated by various onsite sanitation systems and not
conveyed in sewers. These systems include septic tanks connected to drain fields or onsite vermifilter systems and many more. An
advanced fairly expensive sewage treatment plant in a high income country may include three levels of treatments. Primary treatment to
remove solid material. Secondary treatment to digest dissolved and suspended organic material. Tertiary treatment to remove the
nutrients such as nitrogen and phosphorus for disinfection and possibly even a fourth treatment state to remove micro pollutants.
However, sewage treatment rates are highly unequal for different countries around the world. The treatment of sewage is part of the
field of sanitation. Sanitation includes the management of human waste and solid waste as well as storm water management. The term
sewage treatment plant is nowadays often replaced with the term wastewater treatment plant or wastewater treatment station. Strictly
speaking the latter is a broader term that can also refer to industrial wastewater. The aim of treating sewage is to prevent water
pollution. Improving sewage treatment across the globe is crucial for achieving water quality improvements. Sewage treatment removes
the contaminants from sewage to produce liquid and solid suitable for discharge to the environment or for reuse. It is a form of waste
management. Sewage treatment results in sewage sludge which requires sewage sludge treatment before safe disposal or reuse. Under
certain circumstances the treated sewage sludge might be termed bio solids and can be used as a fertilizer. Therefore, sewage treatment
can also help agriculture. With regards to biological treatment of sewage the objectives are more specific such as transform dissolved and
particular biodegradable components into acceptable end products or incorporate colloidal solids into a biological film. It can transform
and remove nutrients and, in some cases, trace organic constituents.
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